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to get across? (1.5 marks)

Why is the second line of the poem in block capitals? (1 mark)

Y

‘How can ybu tell that the teacher is finding it difficult to control the class?
(2 marks)

How does Michael Rosen succeed in making the speaker here sound just like
a certain type of teacher? (4 marks)

“#ks.« Why does the teacher say to Mervyn “Thank you, Mervyn, that’s enough”?

Enough of what? (0.5 mark)
What question did John ask the teacher? (0.5 mark)

Which adjectives from this list accurately describe the teacher in the poem? (1 mark)

witty authoritative sarcastic
jolly TP relaxed : popular
gentle m‘@%rassed kind

Do you think the pupils will behave well on the outing? Give your reasons. (1 mark)

Do you like the last line of the poem as an ending or do you think it would be
better to finish the poem a line earlier? Why? (1.5 marks)

sﬁm et b e ., |
'Did you enjoy reading this poem? Give your reasons as clearly as you can. (2 marks)
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